w
Find the first 4 non-zero terms of the Taylor series for f(x) = sec x about x = ——, SCORE: /25 PTS
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X . & (Bn=-2)x"
Find the radius of convergence of the power series Z ( ') ; SCORE: /15 PTS
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Consider the following statements. SCORE: /5PTS

(i) If Zb" converges, and @, < b, for all integers # = 1, then Za” converges PSS A O <. O
N

n=1 n=l
@) If D a, diverges, then Y |a,| diverges  CouTRAPOSTIVE OF ARSOLUTE CoMULEENCE

n=l1 n=l1
TesT
D

[a] neither is true [b] only (i) is true [c] only (ii) is true [d] both are true

e

Which of the statements above are true ? Circle the correct answer below. r——




Lt Stk = e cos2x.

[a] Find the first 3 non-zero terms of the Maclaurin series for f(x).
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[b] Find f™(0).
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, _ . = (2x-6)"cosnm
Find the interval of convergence of the power series Z | 3
n=2 ninn

cos T = 6])” SCORE: /35 PTS
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o)
Al and CJ are trying to determine if Zan converges, where a, = f(n). SCORE: /5 PTS

n=1
They correctly check that f is positive and continuous at all integers # > 1, and that /" is negative at all integers n > 1.

n=1

They correctly determine that j f(x) dx diverges. Al concludes that Zan diverges, but CJ thinks they cannot make that conclusion.
1

Who is right, and why ?
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l
Find the sum of the series B L Wy v i P SCORE: /10 PTS
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Determine if the series z (CO(Snn) l)n i converges. SCORE: ___ /30PTS
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